
Time: 10 Minutes Paper G. Science 7th Total Marks: 10

3rd Month, 2nd Week, 1st Day Syllabus: Unit # 5:  Comparison between physical

and chemical changes, impact of combustion on environment.

Q.No.1 Encircle the correct answer from the following choices. (0.5×6=3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
1. In which chemical composition of the substance does not change?

¾¾¾¾¿¿¿¿~~~~qqqqÅÅÅÅ6666ððððììììiiiiccccppppssss7777ƒƒƒƒCCCC????
(a) Physical change 8p~ (b) Chemical change 6ðp~

(c) Irreversible change q-§†p~ (d) None Ãð7

2. The burning of fuel is called: ZZZZggggïïïïÆÆÆÆWWWWÃÃÃÃ¹¹¹¹YYYY@@@@****ìììì::::

(a) Photosynthesis ¯I
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(c) Respiration g$n.ç GFc (d) Combustion Á
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3. Which gas is produced due to incomplete combustion?
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(a) Oxygen Mx (b) Carbon dioxide »g0eZðM‚à

(c) Carbon monoxide »g0ñâM‚à (d) Hydrogne ;[+gzX
4. Which of the following is a carcinogen? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚»»»»ggggllllXXXXìììì????

(a) Carbon »g0 (b) Sulphur ÷ (c) Nitrogen **>zX (d) Copper »6,
5. Which of the following is a cause of acid rain? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy!!!!ZZZZ!!!!!!!!****ggggllllÅÅÅÅzzzzzzzzìììì????

(a) CO (b) CH4 (c) SO2 (d) CO2

6. The temperature of the environment is increasing due to:

ââââjjjjwwww»»»»ŠŠŠŠggggzzzzwwwwZZZZgggg]]]]''''''''''''ÅÅÅÅzzzzzzzzÐÐÐÐ((((,,,,||||gggg;;;;ììììXXXX

(a) CO2 (b) HNO3 (c) H2CO3 (d) Na2CO3

Q.No.2. Write the short answers. (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  What are carcinogens? Give examples. »glºH÷?VBŠ,X

(ii) What is the primary source of environmental pollution?

âj1CMßŠÏ»ãCŠ~fg=Hì?

Q.No.3. Give comparison between physical and chemical changes.    (3)
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